
−2

−1

0

1

2

1 2 3 4
Log10 Mean expression

Lo
g2

 F
ol

d 
C

ha
ng

e

pass thresh

FALSE

8_2N_old−2N_yng

0.0

0.5

1.0

−2 −1 0 1 2
Log2FoldChange

−L
og

10
(p

.a
dj

)
pass thresh

FALSE

8_2N_old−2N_yng

Cut

0.0011

Count

0.012

0.0253

0.054

0.15

0.26

0.37

0.48

0.59

0

0

0

0

0

0

0

0

0

−2

−1

0

1

2

2 3 4
Log10 Mean expression

Lo
g2

 F
ol

d 
C

ha
ng

e

pass thresh

FALSE
TRUE

8_Dp16_old−2N_old

0.0

0.5

1.0

1.5

−2 −1 0 1 2
Log2FoldChange

−L
og

10
(p

.a
dj

)

pass thresh

FALSE
TRUE

8_Dp16_old−2N_old

Cut

0.0011

Count

0.012

0.0253

0.054

0.15

0.26

0.37

0.48

0.59

0

0

15

30

109

187

269

387

519

−2

−1

0

1

2

1 2 3 4
Log10 Mean expression

Lo
g2

 F
ol

d 
C

ha
ng

e

pass thresh

FALSE
TRUE

8_Dp16_old−Dp16_yng

0

1

2

3

4

5

−2 −1 0 1 2
Log2FoldChange

−L
og

10
(p

.a
dj

)

pass thresh

FALSE
TRUE

8_Dp16_old−Dp16_yng

Cut

0.0011

Count

0.012

0.0253

0.054

0.15

0.26

0.37

0.48

0.59

12

48

119

223

359

579

818

1051

1220

−0.5

0.0

0.5

1.0

2.5 3.0 3.5 4.0 4.5
Log10 Mean expression

Lo
g2

 F
ol

d 
C

ha
ng

e

pass thresh

FALSE
TRUE

8_Dp16_yng−2N_yng

0

2

4

6

−0.5 0.0 0.5 1.0
Log2FoldChange

−L
og

10
(p

.a
dj

)

pass thresh

FALSE
TRUE

8_Dp16_yng−2N_yng

Cut

0.0011

Count

0.012

0.0253

0.054

0.15

0.26

0.37

0.48

0.59

1

2

2

5

12

13

13

13

14


